Chapter 16 

1.  (a)
Fill in the marginal output column of Table 1.

Table 1

Number of
Total
Marginal

Workers
Output
Output
0
    0

1
    2
  ___

2
    5
  ___

3
    9
  ___

4
  13
  ___

5
  16
  ___

6
  18
  ___

7
  19
  ___

8
  19
  ___

9
  18
  ___

10
  16
  ___

(b) Diminishing returns set in with the ____ worker.

(c) Negative returns set in with the ____ worker.

2. (a)  Fill in the marginal output column of Table 2.

Table 2

Number of
Total
Marginal

Workers
Output
Output
 0
   0

 1
   3
  ___

 2
   7
  ___

 3
  12
  ___

 4
  17
  ___

 5
  21
  ___

 6
  24
  ___

 7
  25
  ___

 8
  26
  ___

 9
  26
  ___

10
  25
  ___

11
  23
  ___

12
  19
  ___

13
  11
  ___

(b) Diminishing returns set in with the ____ worker.

(c) Negative returns set in with the ____ worker.

